Question 22:  If you contracted product in 2006 for future delivery, approximately what percent of contracted sales did you arrange in advance of harvest?
This is another question that involves a histogram with classes of unequal width, complicated by absolute poles:  zero and 100%.
A, 100% = width of zero

B, >50% = width of 50

C, 25 – 50% = width of 25

D, <25% = width of 25

E, zero = width of zero

There were 61 surveys with missing data for this question.  (I think you’re seeing survey fatigue, here).
That leaves 148 surveys.

A = 32

B = 20

C = 17

D = 10

E = 69

This is vastly skewed data, so use of the standard deviation might be criticized.  The average = 30 and the random chance number = 30.  

The standard deviation for this data = 23.  Choice E is more than one standard deviation larger than the random chance number.

Frequency distribution:
A = 22%

B = 14%

C = 11%

D =   7%

E =  46%

If you look at the percentages rather than at the absolute numbers, the average = 20 and the random chance number = 20.  

The standard deviation for the frequency data = 16, which is smaller than the mean, and indicates that we fixed some of the skewness problem by using frequency data.  Again, choice E is more than one standard deviation away from the mean.

I think that you can say that clearly an unusually large number of respondents sold no crops with forward contracting in 2006.
Question 22:  Part II.  
I chewed on this some more, and realized that although the categories were unequal in size, I treated them as equal for the analysis.  That does have a certain merit if you are looking at the way that people take tests – there were five possible answers, and if people filled them in at random, then the random-chance numbers given above make sense.

But what if we look at the deviation from randomness in terms of the percentage of forward contracting?  Then, in a random state, each percentage point from 1 to 100% should represent 1% of respondents.  The random-chance number for the categories would then be the same as the category width.  We’ll have to fiddle a bit with the absolute poles and assign them each a width of 1.

A, 100% = width of 1

B, 51% - 99% = width of 49

C, 26 – 50% = width of 25

D, 2 - 25% = width of 24

E, zero - 1 = width of 1 

Compare random-chance numbers to actual frequencies, and use the calculated frequency SD = 16 to show that categories A and E were much larger than could be expected from a random situation, and that category B was much smaller than could be expected.  
	
	Random
	Actual
	SD = 16

	A
	1
	22
	> +1 SD

	B
	49
	14
	< -2 SD

	C
	25
	11
	

	D
	24
	7
	

	E
	1
	46
	> +2 SD


So, with this piece of the analysis, I think you can clearly say that organic farmers tend to market either all or nothing using forward contracting.  Marketing of a portion less than the whole of farm products using forward contracting happens less than one would expect.  
